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Fsmnen NOOTER D000 555 ae |BLAToTY BLAgoTy
HETA & #(N) BHEN) BHEN)
BEHTREM 1,365 1,370 0 0 100.4 100.4
EH&HT 1,365 1,370 0 0 100.4 100.4
b A RER 60 55 0 0 91.7 91.7
R HET 46 39 0 0 84.8 84.8
4 R ET 6 2 0 0 33.3 33.3
ZE@AF 5 7 0 0 140.0 140.0
A% 4 T 3 7 0 0 233.3 233.3
shRTER R 1,414 1,339 0 0 94.7 94.7
shETTH 859 814 0 0 94.8 94.8
2R 158 136 0 0 86.1 86.1
E)H 160 157 0 0 98.1 98.1
75 B EH 7 6 0 0 85.7 85.7
g W3R FET 100 100 0 0 100.0 100.0
KESHT 18 22 0 0 122.2 122.2
HEEEH 41 50 0 0 122.0 122.0
R HNET 71 54 0 0 76.1 76.1
I\FEH&REm 1,209 1,162 0 0 96.1 96.1
J\F T 1,209 1,162 0 0 96.1 96.1
=R A RER 424 401 0 0 94.6 94.6
BULHEHT 201 195 0 0 97.0 97.0
= FH 27 33 0 0 1222 1222
R FHT 48 43 0 0 89.6 89.6
HFHT 19 21 0 0 1105 110.5
FE BRET 62 57 0 0 91.9 91.9
B _E BT 58 47 0 0 81.0 81.0
AT 9 5 0 0 55.6 55.6
E AT R EFR 452 445 0 0 98.5 98.5
HFRIRET 219 214 0 0 97.7 97.7
DS 121 121 0 0 100.0 100.0
84 iR ET 24 19 0 0 79.2 79.2
AT 17 19 0 0 111.8 111.8
5 FH T 43 47 0 0 109.3 109.3
th ;R ET 28 25 0 0 89.3 89.3
E+=FEm 897 843 0 0 94.0 94.0
+FBAH 316 318 0 0 100.6 100.6
=R 261 238 0 0 91.2 91.2
87100 th BT 34 36 0 0 105.9 105.9
asy=1:]] 46 52 0 0 113.0 113.0
AVl 63 47 0 0 74.6 74.6
1 JECHT 24 16 0 0 66.7 66.7
5di) 82 78 0 0 95.1 95.1
7Ny AT 71 58 0 0 81.7 81.7
ODOBREAT 289 265 0 0 91.7 91.7
G Y] 236 217 0 0 91.9 91.9
yNEilil) 28 25 0 0 89.3 89.3
BB 13 12 0 0 92.3 92.3
R EHM 3 3 0 0 100.0 100.0
{EH4 9 8 0 0 88.9 88.9
&t 6,110 5,880 0 0 96.2 96.2
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BEHTREM 1,788 1,645 0 0 92.0 92.0
el 1,788 1,645 0 0 92.0 92.0
b A RER 92 85 0 0 92.4 92.4
R HET 63 57 0 0 90.5 90.5
4 R ET 3 4 0 0 133.3 133.3
ZE@AF 17 16 0 0 94.1 94.1
5%+ BT 9 8 0 0 88.9 88.9
shRTER R 1,825 1,713 0 0 93.9 93.9
shETTH 1,133 1,059 0 0 93.5 93.5
2R 187 183 0 0 97.9 97.9
E)H 212 193 0 0 91.0 91.0
75 B EH 12 12 0 0 100.0 100.0
g W3R FET 123 116 0 0 94.3 94.3
KESHT 44 40 0 0 90.9 90.9
HEEEH 52 49 0 0 94.2 94.2
R HNET 62 61 0 0 98.4 98.4
I\FEH&REm 1,549 1,465 0 0 94.6 94.6
J\F T 1,549 1,465 0 0 94.6 94.6
=R A RER 557 526 0 0 94.4 94.4
BULHEHT 229 207 0 0 90.4 90.4
= FH 41 39 0 0 95.1 95.1
R FHT 84 84 0 0 100.0 100.0
HFHT 22 23 0 0 104.5 104.5
e SR ET 93 86 0 0 92.5 92.5
B _E BT 78 77 0 0 98.7 98.7
AT 10 10 0 0 100.0 100.0
E AT R EFR 677 631 0 0 93.2 93.2
HFRIRET 299 282 0 0 94.3 94.3
DhSH 196 176 0 0 89.8 89.8
84 iR ET 36 33 0 0 91.7 91.7
R T 32 25 0 0 78.1 78.1
5 FH T 68 70 0 0 102.9 102.9
th ;R ET 46 45 0 0 97.8 97.8
LE+=FEF 1,116 1,039 0 0 93.1 93.1
+FBAH 375 356 0 0 94.9 94.9
=R 304 284 0 0 93.4 93.4
87100 th BT 64 64 0 0 100.0 100.0
asy=1:]] 89 78 0 0 87.6 87.6
AVl 94 82 0 0 87.2 87.2
P 21 21 0 0 100.0 100.0
5di) 107 100 0 0 93.5 93.5
7Ny AT 62 54 0 0 87.1 87.1
ODOBREAT 430 407 0 0 94.7 94.7
G Y] 360 338 0 0 93.9 93.9
yNEilil) 31 31 0 0 100.0 100.0
BB 31 30 0 0 96.8 96.8
R EHM 6 6 0 0 100.0 100.0
{EH4 2 2 0 0 100.0 100.0
&t 8,034 7,511 0 0 93.5 93.5




